& B Jofojel,

o

WA |y - 1] =29

1.



2. xof tigh olAFAA (K - 1) -2k~ D+ 1= 00] 8l2& 7+
[q],k>m011:]—.m_4 %IE O}Cqﬂl'.

e =
-



3. xol OHF OlAHA] 242 4 (k+ L+ k - 10] SAAFA o] B u, £
e Fofoler.

B
=¥



4. xo W7 0<x<3 D, Ol y = - + 20+ 1 2] UGS
M, 21535 m ol Bk, o] T, M+ m ) & Foholar,

e =
c



5. the Al RSl 3R AL BELS Tatelel,

432 -x-3=0,x+2x2-x-2=0,
-4 +5x-2=0




6.

2x' =34+ 242 + a5 x? + x+ 12 o] oA s
= ok

@D -3 @ 3 3 —6 @ 6



@ 15 ® 24 @ 36 ® 47

@D 8



8.  (1+2x—3x%+4x3—5x* +6x° 4+ 7x)2 o] HI A A ¥ o] A7

D 0 ® 2 B -2 @ 4 B -4



9. (10°+2) 9] 7 Aele] £20] G Totolet.



10, (x-3)(x—1)(x+2)(x+4)+24 & AFESNHH (x+a) (x+b) (x> +cx+d)
oIty a+ b+ c—d2] =S Fotofet.

B
=¥



11.

20023 — 1

2002 x 2003 + 1

@D 1999

of grg Fohm?

@ 2000 3 2001

@ 2002

3 2003



12, A +2x2+9= (2 +ax+b)(* +cx+d) 2 AFENE W, |ab - cd|
o) g2 Tofolat

B
=¥



@ x*+2

O x*-2

@ x2+4x+2V2

® 2-4x+2V2-4

B 4x -4



14. y=x>—-(a®-4a+3)x+a*>+2 2y =x o] F wHo| Y Hs}oq
dgolet. ol . a o] & Fote?

@D 4 @ 2 B -4 @ -2 B 3



®1



16.

O34 f(x) S 2% -3x+ 28 s mlo] Ym |7} 30]30, x2 —4x + 3
o2 U o] Y7} 3x Y o, £(x) S x2 - 5x+ 620 U= w9
Uz =?

@ 3 @ 3x+3 ® 3x-3

@ 6x-=9 3B 9x+6



17. f(x) = (

) (1) (12w e




% 0% a,b0) o] Ba z = at bi%h AeNEAG z = a - bi)

I

z=5 0, L (c+2) 8 s shar



19.

o= "3 Zo] AB
12,AC = 13, /B = 9
3 ABCof WHst= Yo

=

rd

@ x2-5x+6=0
® x2-12x+20=0

B x2-13x+30=0

=

FZQ’,EZﬁﬂ'@'UH,a, =
o2 a3 0] A%} 19 oA ALY

= 5’ B = A_
°Ql Az 13
BC, AC, AB 3F s

@ xX>+5x+6=0

@ x> +12x+20=0



20. x )’7]'/?2]—/!\‘%] o, 2x2—8x+y2+2y+69,] e Ed Ry

®—5 @—3 @_1 @1 ©3



21.



22, AAARA P -2 —dx+ k=09 Al 2 By ol Hot] (¢ +
BYB+7)(y +a) = apyS W5 ), kO FhS F5HA?

@7 @ 6 ® 5 @ 4 ® 3






ax+y+z=1
x+ay+z=1
x+y+az=1

o] WAL a0 gtoll BAgle]

I.a=-20°]H 9]

I.

i

mj

T

olJ
G

ile]

sl
olJ
%o
HO

® mWw

@ I,

O I

® I, 1.1, NV

@ 1, I, Iv



25. fé—w%g%%g B o] B g(x), YHAZ 1, o]t 811, ¢(x)

%er%i LPeole wjo] Y22 p, 2f 3 0, r, 9] 227
®

= 0 @

ORI
DO | =
e e
| =

1
@ -3






27, o2 A M+ 1+ (x4 )7 0] ¥ 4 x+ 12 WEo ol ]2 A
She AA4 n& Fote Aol ( )oll gare 5 A2

e AL

w7t A 22 + x +1 = 0 THE5HE= Zolghal oFH w? +

w+1=0

LW w#l

(1)n=3k(k=0,1,2,---) o|¥
W'l (w+1)"=(D)#

(i) n=3k+1(k=0,1,2,---)°]®d
"+ 14+ (w+1)"=(0)

0

W+ 14+ (w+1)*=0
orebA (1), (ii), (i) A T8k n2 (© ) °lH

@ 1,0,3k @ 2,1,3k+1 ® 3.0,3k + 2
@ 3.0,3k ® 2.1.3k



28. x*-3x+2=09 3 Zolaol, 2 —ax+1=09 F 20| b, c¥
o, b3 + 39 F2?

D -1 1 B -2 @ 27 ® 0



xo] P& BRA 2~ 2prt p+2 =09 BE 20| A4

HE sk A4 p o] gto] Wele?

® -2<p<0 @ -2<p<0

@ -2<p<0 ® 0<p<?2

® -2<p<0



